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(F)
CIAK
A E1.on RO6om CEMMIERUEEEHAEL) & -
ALK El.on FO%mERMIBR GRS EHEL) & -
K E1.on RO12m CERMIER VRS S8 L) & -
ALK E1.5n kO6em CERMT AR UREEHEL) & -
A E1.5n RO%m EMMIBRUEEEHAL) & -
ALK E1.5n RO12m CEMMTER VRS S8 L) & whx
IAK E1.5n SKO15m CEMMTER VRS S84 L) & -
ALK (1)
ALK Eon KO6en CEMMIBAES. BEEHEL) & -
IAA Eon KO 5em(CEMMIBEE. BOEHAL) & -
A Eon KOO CEMMIBAES. BEEHEL) & -
ALK Eon KOI12mCEMMIBES. BOEHAL) & -
A Eon kO15m CERMTBEE., HOEHEL) & ok
ALK Eon KOI18mCEMMIBES. BOEHAL) & -
A B KO7. 5 CEMMIBAG., BEEHEL) & -
ALK Edn RO CEMMIBESL. ROEHEL) & -
A Ein KO12m EMMIBEG. REEHAEL) & -
ALK Ein KOS CERMIBEE. BOEHAL) & whx
ALK Ein KO18m CEMMIBAG. REEHAEL) & -
ALK Edn RO CEMMIBESG. ROEHEL) & -
A Edn KO12m ERMIBEG. REEHAEL) & -
ALK Edn KOS CERMIBES. BOEHAL) & whx
ALK Fdn_ KO18m CERMTBEE, HOEHEL) & ok
IEAA E5n KOS CERMIBEE. O EHAL) & whx
A En_ KO18m CERMTBEE. HOEHEL) & ok
ALK E6n KOS CERMIBEE. BOEHAL) & whx
ALK Ebn_ kO18m CERMTBEE, HOEHEL) & ok
ALK ETn KOS ERMIBEE. BOEHAL) & -
A ETn KO18en CEMMIBAG. BEEHAEL) & -
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ALK Eon OIS CERMIBES. BOEHAL) & -
A Etn KO18m CEMMIBAEG. REEHAEL) & -
ALK Eon OIS CEMMIBEE. BOEHAL) & -
A Eon KO18em EMMIBAEG. BEEHAEL) & -
IAEAA E10n RO15mCERMIBEE. BOEHAL) & -
A E10n kO18m CEMMIBAT. BEEHEL) & -
ALK E1.8n ROGmCEMMIBEE. BOEHAL) & whx
A £1.8n RO7. S (EHMIBSE. ROERAEL) & bk
IAA E1.8n ROOmCEMMIBEE. HOEHAL) & whx
ALK £2.5n RO12m CERMIBES. BEEHAL) & ok
IAA E2.6n KO12mCERMIBAE. BEEHAEL) & whx
A £2.8n RO12mCERMIBES. BEEHAL) & bk
ALK Edn RO6en CEMMIBESL, ROEHEL) & whx
A £3.0n RO12mCERMIBES. BEEHAL) & ok
ALK £3.0n KO12m CERMIBAE. BOEHAEL) & whx
A £3.7n ROI5em CERMIBES. BEEHAL) & ok
ALK Edn RO6en CEMMIBES. ROEHEL) & -
A E5n kO9%n CEMMTBES, HEEHEL) & bk
ALK E5n ROI12m CEMMIBES. BOEHAL) & whx
ALK En kO9%m CEMMTBES, HEEHLEL) & bk
ALK E6n ROI12mCEMMIBES. BOEHAL) & whx
A ETn KO12m ERMIBEE. REEHAEL) & -
AKX (2)

ALK £2.0n KO9%n CEMMT - B E = BEAEHEE) & -
IEAA £2.0n RO 12m CEBMMT  BEE  HEHEHAEE) & -
A £2.0n RO 15m CERMT  BH = EMEHAE) & -
ALK £2.0n RO 18om CEMMT  BE =  HEHEHAE) & -
ALK £2.0n RO20om CEBMT  BHE HEMEHAE) & -
ALK £3.0n KO0 CEBMT - it = - EHBESE) & -
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£3.0m ROA12cm (EIHMT - RE = -FRFNZHEL)
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[ TEAWN £3.0m K O15cm (FEiHMT - R = -PHEHIEHRED) x -
LAYTEIWN £3.0m KO18cm GedimT - BE = -PHEHZEHRELD) N -
[ TEAWN £3.0m KO21cm (FEIHMT - R = -PHEHIEHRED) x -
LAYTEIWN £4.0m RO9cm (FEIFMT - RE & -FEFIZEHED) N -
LAY TEAWN £4.0m KO12cm (FEIHMT - R = -PHEXEHRSD) x -
LAYTEIWN £4.0m KO15cm GedimT - B = -PHEHZEHRED) N -
[ TEAWN £4.0m K O18cm (SEIHMT - R = -PHEHIEHRED) x -
LAYTEIWN £4.0m KO2Mem GedimT - L= -PFEHZHED) N -
[ TEAWN £5.0m K O9cm (FEIHMT - RE = -HEHIZHSD) x -
LAYTEIWN £5.0m KO12em GedimT - R = -PHEHEHED) N -
[ TEAWN £5.0m FKO15cm (SEIHMT - RE = -PHEHIEHRED) x -
LRI £5.0m KO18cm SedimT - L= -PHEHEHRELD) N -
LAY TEAWN £5.0m KO21cm (FEIHMT - R = -PHEHIEHRED) x -
LRI £6.0m K O9cm (FEiFMT - RE & -FEFIZEHED) N -
[ TEAWN £6.0m K O12cm (FEIHMT - R = -PHEHIEHRED) x -
LAYTEIWN £6.0m KO 15em GedimT - R = -PHEHEHED) N -
LAY TEAWN £6.0m K O18cm (SEiHMT - KL = -PHEHIEHRED) x -
LAYTEIWN £6.0m KO21cm GedimMT - B = -PFEHEHED) N -
- KRR

WEIR iE12cm  &2m [E5.0~6. 0cm m3 -
M EAR 1E15cm  £3m [E5. 0~6. Ocm m3 -
AR AR iE15cm  K4m [E5.0~6. Ocm m3 -
M EAR 1@12cm  £2m [E3. 0~4. 5em m3 ook
AR AR iE15cm  &3m [E3.0~4. 5cm m3 -
HEAR 1E15cm  f£4m [E3. 0~4. 5em m3 -
MR iE12cm  &2m [E3.0~4. 5cm m3 -
HEIR 1E15cm  f£4m [E3. 0~4. 5em m3 -
- M

R KYH  6~8mx30. 5¢m x 30. 5em m3 -
NEH & £4. Om x [E9cm x #F9cm m3 -
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N2 RKYH £3. Om x [E9cm x #§9cm m3 -
AR N £4. Omx [E15¢m x #E15¢m m3 -
e 2 3cm X 6cm x 4. Om m3 -
(%N 1.8cm x 1. 8cm x 4. Om m3 -
EAM 1% £3m  E9em E9cm m3 -
EAM ®1%) £3m E12m  #F12cm m3 -
EAM  ®B1%) £4m  E10cm _ #E10cm m3 -
EAM #®1%) F4m  E12cm E12cm m3 38, 000
EAHM 1% £3m_[10.5cm 1§10, 5em m3 -
EAM  GR1%) £3m _ 1&15cm E10.5~12 m3 -
EAHM 1% R4m #E15em  [F10.5~12 m3 -
EAM (1% R4n _ 1§18~24cmZ10. 5cm m3 -
EEHM (1% F4mx 7. 5em X #@7. 5em & -
FEIHM (1% F4m x E6. Ocm X 1§6. Ocm A sokok
EEHM (1% £2m % [E6. Ocm X E6. Ocm & -
EEM (BHE1%) F4m x [E4. 5¢cm x 184, S5em X -
EEHM (1% £3mx E4. 5em X 1@4. 5em & -
EEM (BHE1%) F4m x 9. Ocm x #F9. Ocm X -
EEHM (1% 0. 6mx [E6. Ocm X 1E6. Ocm & -
EEM ®1%) K3m_184. 5cm  [Z4. 5em m3 -
EEHM  (BEH1%) £4m 184, 5om  [E4. 5m m3 -
EEM (HE1%H) £3m_16.0cm  JZ6.0cm m3 *kk
EEHM  (BH1%) H4m_1E6.0cm  [E6. Ocm m3 -
FEHM 1% K3m E3.0cm  #Z10. 5em m3 -
FEHM 1% £4n  [£3.3cm _ #E4. Ocm m3 -
FEHM  B1FH) K4m _[E4. Ocm 4. Sem m3 -
FEHM 1% £4n  [F4.5cm  #E10. 5em m3 -
- R#

RBHiR HS5H F4.0m [E3.6cm  1E20cm m3 -
Ri5R I £4.0m [E3.6cm _ 1#520cm m3 -
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VY )= b RRBEREESIR 57 #1800 %900 x 12 ® -
aVy)— bRIPRZESIR 5 #1800 % 600x 12 ® -
a o )— b REBRAER <7 > (xR B & EBC) 12 x 900 x 1800 ® Fokk
V)= bRBRAER 27> (xR B & &EBC) 12 x 600 x 1800 " -
R4 1% £2n [£0.9cm _ #E9cm m3 -
it (1%) £2n [E1.2cm  #E9cm m3 -
R4 1% £ [F2. 4cm  #E12cm m3 -
it (1% K2 [F3.0cm  #E30cm m3 -
R4 1% F4n [20.7cm  #E21cm m3 -
it 1% K4m [E1.1em  #E9em m3 -
R4 (1% E4m [E1.3cm 14, 5em m3 -
R4 1% K4m _E1.3em  #E9cm m3 -
R 1% £4m [E1.5cm  #E4. 5em m3 -
R4 (1% R4m  =E1.5cm  #E15cm m3 -
R4 (1% £4n [E1.8cm  #E18cm m3 -
R (1% Fd4m B2 4cm  1§21cm m3 -
R4 (3 1%) £2m [E1.5cm _ #F15cm m3 -
it (1% R [F2 4cm  #E21cm m3 -
R (2 1%) £2m [E3.0cm __ #E21cm m3 -
itz (W4 1%) f4m  E1.5cm  #E15~20cm m3 -
R4 (1% R4m [E3.0cm _ #F15~20cm m3 -
Rt 1. 5om x 15cm % 4. Om ® -
IMER  (BE1%) K4m E1.5cm 087 9~9. Ocm m3 -
SOVER (I fAkR=v) £1820mm  [E12mm _ #E910mm i -
SOVER (I3 mAkR=y) £1820mm [ 15mm__ #E910mm 54 -




